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Instructions:
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Q.2
YR, 2

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.
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Answer any seven out of ten. e2HiZl SISURL Uld<l orst ALl
Define master budget.
HIZ2 01572 <l cAlvaL Qul,
Define book value and net present value.
015 44 el 42 Uiz Ay, il vl 24l
Define depreciation.

2131 il earvaL 2l

Define break even point.

615 S UIHe2 <Al cAlvalL quil,

List qualities of estimator.

212214212 <l dlapilsdal 20 <l 2l oiaidl,

Define forging and casting.

5l[5%0L 21 51R291 [l vl 2ul.

Find out break even point if fixed cost is Rs. 10000. The variable cost per unit
is Rs. 50, the sales price per unit is Rs. 120. The total production is 200 units.

oL [A[#2d v3, 3. 10000. Sl dl 85 S Wide2 WAl 2154 £ls Aldd £lud 3. 50, 2isH

gls Q2L [54d 3. 120 9 214 54 Gedled 200 visHl 9.
State the conditions of contract.

5312 <Al 2121 quil.

List need of estimating.

w22 [M2L0L il or3lea1d orEUAL

Differentiate between costing and estimating.
5129 2 212ZIH2[0L 422 AL dslad sl

List types of forging losses and explain sprue loss with sketch.
55701 sl i 2Y dsale <l Bl UsIRL 2A5(d 018 AHMAL

OR
List types of pattern allowances and explain draft allowance.

U2el Al UsIRIAL AEL otldl 24 g5z AAIGY UHMAl
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(0)  Define and Derive Margin of safety. State its importance. 04
(01)  HID 25 A52] AvALAA 521 ded oL dRAL i Ad wea spoudl oY
OR
(b)  Define Fixed cost and Variable cost with suitable example. 04
(o) (55 5122 2iq AZlolo1d 5122 4192, GELRBL A2 UHAAL, oY

(c)  Find out the cost of 1500 C.I. pulley as shown in figure.(1). After casting all 07
the surfaces are to be machined. Use the data as follows
I.  Metal cost- Rs. 3 per kg

Il.  No of moulds per day- 20 per moulder

I1l.  Melting charges-20% of material cost

IV.  Machining allowance on each surface- 2mm

V.  Wages of moulder- Rs. 15 per day

VI.  Density of cast iron — 7.2 grams per c.c
VII.  Overhead cost- 35% of material cost

(5)  2ugla(l) Hiegiea w4l 1500C.1 <l yellzl L (sud {12 uniel 21l Guio 52l 09
2ldl ol Al 51201 511 ugsl Hall<lol srami »udg 9.
I Hedwd 3.3 -uld B4l
[l 2236y L 5A Hiegd 20 -HIKR 2ls
L el ges %20 v2lAE WAL -
V. 225 quid] ur Hefl[dol 1B 2 -2
V.  HIdd ddd -Rs. 15uld (244
VI 5122 2l addl 7.2 - uld 244l

VI 214268 W2 1Ml v %35 -

OR
(c)  Find the cost of C.1. pulley 1000 cm? volume. Use following data ( Patternis 07
supplied by the customer):
I.  Cost of metal- Rs. 25 per kg

Il.  Wages of moulder — Rs. 150 per day

I1l.  Overhead cost- 10 % of material cost

IV.  Melting charges- 15 % of material cost

V. No of moulds per day- 30 per moulder
VI.  Density of cast iron — 7.2 grams per c.c

(5) 1000 cm® dieyy Aol wis 2lons yell iz Al wd 2 s2idl Guaia 52l L., (ded 09
Alss 2AIRL ULl ULLAME 209 89):
I #eadl (Bud- 3. 25 uld (al
Il HieseAl dde - 3. £22Us7 150
ML 29268 WA - H2e wadL 10%
V.  #He2lo ges- H2lKAd WAL 15%
V. U6y Al 58 HIstd-  Hieek 2ls 30
VI 5122 2044 aedl - 7.2 m ula 24l
Q.3 (@) Explain knurling and facing operation 03
URA. 3 (W) Ao 2t 5[0 2AURUA UHMAlL o3
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OR
Explain reaming and tapping operation.
AL w1 2[UL wUZAA BHAAL

List and explain cost elements of gas cutting.
O, SZ[0IHE M <AL 25l AUl e UHMAl

OR
Classify and explain labour cost in welding process.
dedlor ulsami aM waAd 4oilsd 520 vt dHmdl.

A 25x8 cm? C.I surface is to be faced on a milling machine with a cutter
having 10 cm. diameter and 16 teeth. If the cutting speed and feed are
40m/min. and 4 cm/min. respectively, determine the milling time, R.P.M. of
cutter and feed per tooth.

25x8 A.H12. <l 245 C.1. quiZld Hlelor Halld uz 10 A4l < 244 16 Eldl UL 522
AU AUHAL 5291 UG 9. 6yl stuledl ould i 5le 1450 40 Hl/[Mlaz 214 4
AL/ Mlaz, i dl el ama, 522 4l 2uluu, 2id 2ldl 2ls 5ls <ssl 52

OR

Find the time required for doing rough grinding of a 16 cm long shaft to
reduce its diameter from 4.2 to 4 cm in a grinding wheel of 2 cm face width.
Assume cutting speed as 16.5 m/min and depth of cut as 0.25 mm.

2 4Ll wsions saadL wd-dla dla 4l 215 16 .4l aioll wlgz 4 4.2 4l 4 A4l
Yol et 25 WLl 2l w218al Wiz Qldl or3<l uHa diAl. 52l 25w 16.5
lzz/ WAz vid sedl Gigls 0.25 HlHl <l &izew 52l

Explain an importance of estimating process cost.
U541 WA 2i2ler o Hed AHMAL

OR
State the cost elements of an ice plant.

UHA Lelle2el W3, 125l srRUAL.
List procedure for calculating material cost of a foundary shop product.
51G¢2l Ay <l Uigsz Hi2 HleRAd slHA Al apladl HizdL waialsll qul.,

OR
A factory has fixed cost of Rs. 10000. Variable cost/product is Rs. 2. Selling
price /product is Rs. 4. Find break even point. Calculate margin of safety if
net actual sales is of 8000 units. Also calculate sales target if the factory has
to earn a profit of Rs. 6000.

25 5524 <l [552¢ 5122 3. 10000 9. ARASE WA / Wiss2 3. 2 9. 42Ul [54d /
Beuled 3. 4 9. 6l5 S Uidez Al oyl Alvvi dlzd(ds 420 8000 2AsHl i dl
UM AlAL HUlSyA<l ABAZL 520 671 552304 3. 6000 <l gl sHIAL S Al A0 @gAis<]
RISV EE R
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25 2219, Al A0ilAL A s 9 4l 30 HlHl syeal 5 5291 W2 L sRi0L U WALl

2ls 30 #lzz/ M2 9 21 51 58 0.2 HlHl/ulema 9.

State types of budget and explain any two in detail.

A diesel power plant has a capacity of 1800 kW. Its pick load and load
factors are 1700 kW and 85% respectively. Estimate power generation cost of

dload ulaz vallezell #HAL 1800 KW €9, dell [Us dlg vt @lg 5522 254 1700 KW i<

Find out the facing time to face at one end of 30mm steel rod. Cutting speed

A
B
s e s
D | 684 TM
dy f———— S-SR N N
4.4 4.0 4,2
¢ ) l3

(©)
this plant. Assume
1. Capital cost- Rs. 900/kW.
2. Interest on capital-10%.
3. Operating cost/year Rs. 60,000.
4. Fuel consumption- 0.4 litre / kwWh.
5. Fuel cost- Rs.40 per litre.
()
85% 9. vilrdleedl dlsy Geuled W gliAl.
1. Hélwd - 3. 900/kW.
2. Hiluz sy - 10%.
3. wuRla vE 7 ad- 3. 60,000.
4. PE AURI - 0.4 [@22/KWh.
5. D40l WA - 3. 40 uld €l
Q.5 (@  Explain sales budget in brief.
URAU () A0 6isy2 [AAAAR AHMAL
(b) i | .
is 30 m/min and cross feed is 0.2 mm/rev.
(*)
(©)
(5)  ol5y2 <l Usll QUL 2 515 UL 6L [AAAAIR AUl
e
% | b |
11,69 - = 5}51—— 5.6¢
| 4.0 4.0 4.0
i
FIG. 1

: CAST-IRON STEPPED PULLEY Que-2(c)
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